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Attempt the following.
1- For circuit (A) find the time response V2(t)given h(t) = t U(t), h(t) = e-2tU(t). and the initial
conditions are specified as ; V0- = 114 volts and 10- = O.(15pts)
2- For circuit (B) find the voltage transfer function V JVin •Choose suitable values for R , L, and C that
yield a circuit suitable to select inputs within 1 -10 kHz frequency band. (1Opts)
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3-Determine the function corresponding to the Bode magnitude plot shown in Fig (1). (10pts)
4-Write the matrix state equation for the circuit shown in Fig.(2). (10pts
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5-Find the transmission parameters (AllCD)for each of the two ports in the figure below (1Opts)
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6- FOI'Fig.(3) find the scattering parameters for the two port shown when double terminated by one ohm
resistances. (15pts)
7- In Fig. (4) the two transistors are identical and each has a CE y parameters Vine =1 S, ¥re =0 ,¥fe
=10 S, and ¥oe= 0.1 S. Write the lAM ofthe circuit, and find VJ. Vin (15pts)
What will be VoNin if transistors are ideal (10pts)?
8- Find the input impedance Zin for the circuit shown in Fig.(5). Assuming ideal Op Amp. (15pts)
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